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1. When simplified, the expression ( x + y }3~* { x -y )3 becomes
a. 2y3 | d. 12xy + 2y°
b. 0 | e. 2x3y3
c. 6xgy + 2y3

2. wWhich of the following statements is not true for all values of x?

a. [x] >0 d. x| = [=x]
b, x < {x]| e. =|-xf <0
c. |=-x| = x

3. If 5% - 3y = 11, then y equals which of the following expressions?
a. (5x - 11)}/3 d. (16x)/(-3)
b, (11 - 5x)/3 e. (lex)/3
c. 5x - 11
4. Which of the following is a factorization of the polynomial 12x + X - 6 ?
a, 6{(x -~ 1)(2x + 1) d. 3{x - 2)(4x + 1)
b, 6(x + 1){2x -~ 1) e. (3x - 2)(4x + 3)
c.  (3x + 2)(4x - 3)

5. Which of the following values of k would guarantee that the

eaguation 2x2 - kx + 3 = 0 will have ratiocnal roots?
a. 0 d, 1
D. 5 e. 2
c. 6
e . . . . : 3 3,
6. Which of the following is a factorization of the polynomial Bx™- y7=
a. (2x - y)3 d. (2x - y)(4x2+ 2xy + v?)
2 2
D, (2% - y)idx - 2xy + y2) g. (2x — y)(2x7+ 2xy + y2)

c. {2x - y)(4x2+ Xy + yz)
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2
7. The expression simplifies to:
NS - \/7
a. = \/ 5 -\J 7 a. V1 +\/ s
b, 2(\/5 - \/ 7) e. /7 -\/5
c. 1/(\3)
8. Simplify the following camplex fraction,
1 1
P g
1 - 1
v 7
P g
a. gt p d. 1/(p + q)
pd
b, p + g c. pa/(g-p}
c S .
P+ g
9. Simplify the expression: (X2)4(Y%){2/3)
- ~1y -3
3y
a. x6y(ll/3) d. vy
NEEACT I =
X Ty X
11
o} % e Y
11
¥ X
L1
C Xy
10, The solution (x,y) for the system of equations H(x = 1) +
2x =7 -y
a, (0,0)
b. (=1,0) d. {5/3,1/4)
c. (3,-2) e. There is no solution.
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11. If y varies directly as x and inversely as the square of z, and y is 4

12I

13.

i5.

16.

when x is
al

b'

Find the solution to:

a.

b.

C.

Five times the sum of 3 and twice

a.
b.
C.
Which of

a.

b.

C.

What is the minimum y value [or the parabola y = x2 + 2% -

a.

b,

C.

The solution for |3 -

a.

L.

c.

2 and 2 is 16, then find
N/ 2
4
2N/ 2
3
3
N/ y-l

1 + 5 N\/5
-1 + 5 \/5

6

15 + 2m

17m

15 + 10m
the following conditions
X < 0

y > 0

2X > ¥y

-1

-4

-6

2x| < 4 is:
x < =-1/2

Xx > =-1/2

x < 1/2

y when x is 1/4 and z is 2.
d. 1/2

e. 32

j

4. 523,
e. 126
some number, m, can be expressced as:

25m

@, 3 + 10m

will make 2% - y a negative number?
l. 2% > -y
e, y > 2%

37
d. 0
e. =3

e. =1/2 < x < 71/2
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Which of the Following quadratic equations has complex voots?

a. 2x*~ 5x +3 =0 d. 2x*-~ x +3 =0
b.. 2x%t x - 3 =0 e. x> -1=0
C. 2x2— X -3 =290
Solving for Z in the equation Zplp = 257 will give Z =
i, ¥ 2
a. ZiZp - (Zy + 1) d.  ZgZoZp
b. ZtZp (2o + 1) "“E;“T73§§;§
c. Zltop e 2¢{Zy - 1}
. ~—*~;:———
19. What is the range of the Cfunction vy = x/|x| ?
a. [ 11 d. [y | y <0}
be 1, =1} e. |y | y is not 0 }

co Ty | y>o01

Which of the Following relations is also a Ffunction y=f(x)?

a. y = x% + X d. % = Y2
b 2

- X = ¥ +y . X = 3
C. x2+ y2 = 4

Pind the slope of the line 2x - 3y - 18 = 0.

a. 3/2 d. 2/3
C 2

| 4x/5 - 1§ » 3

a. -5/2 < x < 5 d. X > 5/2
b, % > 5 or x < -5/2 e. X < -5 or x > 5/2
cC. x > 5
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23. If the length of a side of a square is increased by 4 cm, the perimeter of
the new square is 60 cm more than twice the length of a side of the
original square. Find the length of a side of the original square.

a. 5.5 d. 20
b, 6.5 e. 22
c 8

24, simplify the Following expression:

\;{élx3 - 3x\;/§wm+ 5x \;/;;M“

3 3
a. 10x\/ 3 d. =4x\/ "3
3 3
b. =10x\/ 3 e 4x\/ 3
3.—-—-
c. =-6x\/ 3
4 ";“H ‘?/_5~"
25, find the product. N X7y T N/ xy
8/ 7T 4/
4 3
a. \/ xvy d. ]xh\/ Yj

g B
D. \//xiy3 a. XZ\//Y3
2 e
c. xX“y\/ vy
26. The solution set for the equation 1 8 2 is

a. {-3,1% d. §1, =i}
b. §1/5,3% e. §-3, -1/5%
c. 51/3,51
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- 27

28.

29.

30.

Find the product: (5ax + by){2ax - 3by)

a. 1Oa2x2+ 13abxy - 3b2y2 d. 10a2x2
b, 10a2x2— 13abxy - 3b2y2 e. l0ax -
2.2

c. 10a?x?- 3p%y?

. . . C i oas 3
Find the gquotient obtained by dividing 39 + 8x

a. 4x%+ 6x + 7 d. 4x’- 6x + 7
b, 4x%+ 6x — 7 e. 18
C. ~4x2+ 6x ~ 7
Factor the following polynomial: 3a2c + 3a2d2+ 2bzc + 2b2d2
a. (¢ + d%)(3a%+ 2p%) d. d% c(2a%+3b?)
b. (o + d%)(2a%+ 3b%) e. 5(a’c + a?d%tb?c + pla?)

C. d2+ c(3a2+ 2b2)

Combine into a single fraction in lowest terms.

5% + 2 3{x + 4) x - 7
X -~ 6 X — 6 6 - X
a X — 3 d 3x - 17
X - 5 5 - X
b. X - 3
e e e. 3x - 17
5 - X
X - b
C Tx - 3
X - b6

+ 3b2y2

13abxy - 3by

- 4x by 2x + 3.
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Combine into a single fraction in lowesl terms.

3a 2 - bx
— G
2xXy 3y3
2 2 3 3 2 4
a. 9ay - 4x - 10x + 36xy d. 9ay = 4xy + 10x y+ 36xy
6xy3 6xy4
2 2 3
b. 9ay = 4x + 10x"+ 36xy e, 3a + 5x + 4
6xy3 —xy2
C. 9ay3~ dxy - 1Ox2y + 36xy4
6xy4
2yP- 11y + 12 JyPe 14y + 8
Divide by 5

6y2- 6y - 12

a. (2y - 3y - 1}

ly + L) (3y ~ 2)

e (2y + 3)(y + 1)

(y = 1){3y + 2)

c.  (2y - 3)(y ~ 1)

6{y + 1)(3y - 2)

2y - by + 4

d. (2y + 3)(y + 1)

3(y - 1){3y + 2)

(2y = 3)¥{y - 1}

o]

3{y + 1)(3y - 2)

Solve the following equation.

N/ 2x2~ 9 = ¥

[#]

x
I

(v

a. X 31, -3i
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Find a quadratic egquation whose roots are 3 + 2\/ 3 and 3 -~ 2\/ 3 .

a. x2 + 6x + 3 = 0 d. x2 - 66X + 3 = 0
2

b. x2 ~ 6x — 3 = 0 a, x = 3x -6 =20

C. x2 + 6% - 3 =

If point A has coordinates (2,3) and point B has coorqinates (- 5, &)
then the slope m of the line segmenl joining A and B is:

a. /7 d. -7/3

b, =~3/17 e. \/ 58

. 7/3

If £(x) = x2— 3x + 2 then which one of the following statements is false?

a. The range of £ is [y | v > 03} d. £ has no maximum value

b.  The graph of £ is a parabola. e. The graph of f crosses
the x-axis twice.

o The minimum value of [ occurs at x = 3/2

A ball thrown into the air with a velocity of 32 ft/sec will be above the gfound

5 Ft.at any time t (measured in seconds) with s = -16t2 + 32t, At what time after
it is thrown will the ball hit the ground?

a. 0.5 sec d. 2.0 sec
b. 1.0 sec '. e. 3.0 sec

c. 1:25 secg



38.

39.

40.
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. . 5 4 : 2 ,
Given the function f(x) = 2% + 4x - 6x3+ 2x7 + 8x - 5 , how many possible
positive roots are there?

3. 3 or 1 d. 4

{®
[\

0. 4, 2 or @

C. 5

A company's sales volume (S) per month varies directly as the number (A)
of dollars per month spent for advertising, and inversely as the producl
of the selling price x dollars per unilt and the inflation index (I).

Express this relationship in an equation.

a. S = k(xI)/A d. 8§ = kaxI
be S = kA/(x1) e. S = kAx/IL

. 8 = kA/(x+I)

If =5 < A < 3and 4 < 3 < 7 , then the maximum value of |A -~ B} is
a, 4 da. 1

b, 12 e. 7

c. 9







